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International Finance Management (Quiz B)

I. Explaining the following terms: (20 points)

1. LIBOR

2. currency swap 
3. translation exposure
4. ADR
II. Answering the following questions: (49 points)

1. Define the balance of payment, and explain the BOP three main components. 5’
2. Explain the main point of Elasticity Approach and MAKE COMMENT ON IT.7’
3. Briefly describe how various economic factors can affect the equilibrium exchange rate of the Japanese yen’s value with respect to that of the dollar.7’
4. What are the advantages of a currency option contract as a hedging tool compare with the forward contract. 6’
5. Comparison of forward and future transaction. 6’
6. Explain the characteristics of Eurocurrency market .
5’
7. In order to hedge the foreign-denominated-receivable against the exchange exposure, how can a MNC use internal techniques ? 5’
8. Can a weak home currency definitely improve that country trade balance? Give your reasons. 8’
III. True or False: (10 points)
1. The International Fisher effect suggests the ratio of forward to spot rates equals the ratio of interest rates of domestic to foreign countries. 







2. The forward rate for June refers to the spot exchange rate of June.      

3. If the import exceeds export, that country runs a trade deficit, 




4. If the option is American- style, it can be exercised anytime prior to the expiration date.  

5. Foreign bonds include international bonds, Eurobonds , and global bonds.   

IV. Calculate and answer the questions (21 points)


1.  Restate the forward point quotation in outright forward quotation. (9 points)

spot $/£      1.5573- 1.5578

forward point quotation 


outright forward quotations

90 –days 

   2 -18





  
 $1.5575 - $            

180 days  

   1-26







  $                   

a. Is the pound trading at a forward discount or premium to the dollar?

b. What is the discount or premium on 90-days pound sterling as a percentage? 

2.  If a bank currently quotes spot rates of DM 1.5249 –1.5255 / US $ and Bfr 31.2280 –31.2340/US$, what would the bank/s bid price be for the Belgian franc in terms of German marks? (4 points)
3.  A put option on Australian dollars with a strike price of $0.80 is purchased by a speculator for a premium of $0.03.  Assume there are 50,000 units in this option contract.  (8 points)
If the Australian dollar’s spot rate is $0.74 on the expiration date, 

c. Should the speculator exercise the option on this date or let the option expire? 


d. What is the net profit per unit to the speculator? 


e. What is the net profit for one contract?



Suggested Answers:

I. Explaining the following terms:
1. The interbank interest rate at which a bank will offer Eurocurrency deposits to another bank in London. LIBOR is often used as the basis for setting Eurocurrency loan rates. The loan rate is determined by adding a risk premium to LIBOR.
2. One counter party exchanges the debt service obligations of a bond denominated in one currency for the debt service obligations of the other counter party denominated in another currency.
3. The potential change in the value of financial positions due to changes in the exchange rate between the inception of a contract and the settlement of the contract.
4. A certificate of ownership issued by a U.S. bank representing a multiple of foreign shares that are deposited in a U.S. bank. ADRs can be traded on the organized exchanges in the U.S. or in the OTC market

II. Answering the following questions:
1. The balance of payment is a statistical compilation of all economic transactions between the home country and all other nations for a given period of time, usually one calendar. 

（current account – goods, service, income, unilateral transfers）

(capital and financial account)，(balancing account)




2. elasticity approach is the change in the trade balance resulting from a depreciation or devaluation and depending on the price elasticity of demand for the nation’s exports and imports.

Limited

Merchandise flow, do not consideration of the untraded and the capital flow

Based on the partial equilibrium theory, neglect the inflation    
3. inflation rate . if U.S. inflation is higher than Japanese inflation,  the U.S. demand for Japanese goods may increase ( to avoid the higher U.S. prices). Consequently, there is upward pressure on the value of the yen. 











If U.S. interest rate increase and exceed Japanese interest rates, the U.S. demand for Japanese interest-bearing securities may decline ，while the Japanese demand for U.S. bearing securities may rise. Both forces place downward pressure on the yen’s value.

If the U.S. national income increases more than Japanese national income, the U.S. demand for Japanese goods may increase more than the change in national income levels does not affect exchange rates indirectly through effects on relative interest rates, the forces should place upward pressure on the yen’s value. 

If government controls reduce the U.S. demand for Japanese goods, they place downward pressure on the yen’s value, if the controls reduce the Japanese demand for U.S demand for U.S. goods, they placed upward pressure on the yen’s value. 

The opposite scenarios of those would cause the expected pressure to be in the opposite direction. 
4. limit the adverse loss, but preserve the favorable potential, especially useful for contingent flow. 
5. future, small corporation, standard ， Forward exchange big corporation, 

6. scale, exchange, rate structure



7. invoice currency , lead/lag strategy,  exposure netting     

8. No. time lag , inflation elasticity conditions         

III. True or False:
1.T   2.F   3.T   4.T  5.F  
IV. (1) $1.5575- 1.5596   $1.5574- 1.5604   



the forward prices were trading at a premium to the spot price.)




(FR-SR)/SR* (360/90)     75-1.5573)/1.5573 *4 =0.051%



(2) 31.2280/1.5255--  31.2340/1.5249       Bfr 20.4787 – 20.4826/DM



(3) The speculator should exercise the option .


The net profit to the speculator is $.03 per unit. ( .80-.74-.03)



The net profit to the speculator for one contract is .03×50,000= $1500




